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<hw-lect4-1: )
i ¢ Bernoulli dist. with parameter pi:
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a) Show that it's a distribution (prob. mass function).
b) Find the prob that x=1.
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hw-lect4-2: )
a, we have observed that x is between 0 and 1/2 about 25% of the time. Which of the following is the
more reasonable distribution from which our data may have come? Show work (always!)
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w_lect4 3: What's the prob of getting 1 or 2 boys in a sample of size 10, taken from a population in which
theproportion of boys is exactly 50%?
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Consider ONE of the 2 continuous random vars, and ONE of The 2 discrete (categorical variables in the data
you collected. Make comparative boxplots for the continuous variable for each level of the
discrete variable. E.g. if the discrete var. has 4 levels, then you need to show 4 boxplots for the cont-variable,

all on the same plot, side-by-side. Interpret/discuss them. By R.
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